
CURVED SOAP FOAMER ,Model  SF1117 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 

Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

2.EXTENSION ARM 18’’LG 

3.1 MOUNTING  

       PLATE 

3. MOUNTING  

     BRACKET 

3.2  SQ.U-BOLTS 3/8’’ 

       w/Hex Nut and 

       Flat  Washers 

 ITEM Description PART NUMBER QTY.    

  1 

1.1 

1.2 

1.3 

1.3.1 

1.4 

1.5 

1.5.1 

1.6 

2 

3 

3.1 

3.2 

CURVED COMPACT FOAMER MANIFOLD w/Dual COLLAR and Foam G. 

       SPRAY MANIFOLD 

       NIPPLE 1/2” 

       FOAM GENERATOR 
             FOAM MEDIA ASSEMBLY 

       AIR PUSH FITTING 1/4” 

       FOAM GENERATOR CAP 

         -O-Ring 

       DUAL COLLAR 

EXTENSION ARM 18’’ 

MOUNTING BRACKET ASSEMBLY: 

       MOUNTING PLATE w/COLLAR 

       SQ.U-BOLTS  3/8’’Size with 

              HEX NUT 3/8’’  and 

              FLAT WASHER 3/8’’ 

SF1117 

SF1117AAM 

NPL304025CLS 

SF1117AAG 

SF1117AAGP 

APS3814 

SF1117AB 

SF1117ABA 

SF1117AAB 

SF0405B-18 

- 

SF0405C 

UB-SQ0375x1400 

HN3816 

FW38100 

2/SET 

2/SET 

2/SET 

2/SET 

2/SET 

4/SET 

2/SET 

2/SET 

 

2/SET 

2/SET 

2/SET 

2/SET 

4/SET 

4/SET 

1.CURVED COMPACT  

   FOAMER  

MANIFOLD 

1.6 DUAL  

COLLAR 

1.5. FOAM GENERATOR  

CAP 

1.3. FOAM  

GENERATOR 

1.3.1 FOAM MEDIA 

  ASSEMBLY 

1.5 

1.4 

1.1 

1.3 

1.2 


